
MERELASIKAN TABEL

CREATE DATABASE koneksi;
USE koneksi;
mysql> CREATE TABLE GAJI(GOL CHAR(1) PRIMARY KEY NOT NULL,GAJI INT(8));

mysql> INSERT INTO GAJI VALUES('A',1500000);
mysql> INSERT INTO GAJI VALUES('B',1250000);
mysql> INSERT INTO GAJI VALUES('C',1000000);
mysql> SELECT * FROM GAJI;
+-----+---------+
| GOL | GAJI    |
+-----+---------+
| A   | 1500000 |
| B   | 1250000 |
| C   | 1000000 |
+-----+---------+
mysql> CREATE TABLE PEGAWAI(NAMA VARCHAR(20),GOL CHAR(1));
mysql> INSERT INTO PEGAWAI VALUES('HENDRI','A');
mysql> INSERT INTO PEGAWAI VALUES('SENO','B');
mysql> INSERT INTO PEGAWAI VALUES('BUDI','D');
mysql> INSERT INTO PEGAWAI VALUES('SITI','E');

mysql> SELECT * FROM PEGAWAI;
+--------+------+
| NAMA   | GOL  |+--------+------+| HENDRI | A || SENO   | B    || BUDI   | D    || SITI   | E    |
+--------+------+

mysql> SELECT * FROM PEGAWAI INNER JOIN GAJI
ON PEGAWAI.GOL=GAJI.GOL;

+--------+------+-----+---------+
| NAMA   | GOL  | GOL | GAJI    |
+--------+------+-----+---------+
| HENDRI | A    | A   | 1500000 |
| SENO   | B    | B   | 1250000 |
+--------+------+-----+---------+

mysql> SELECT * FROM PEGAWAI LEFT JOIN GAJI
ON PEGAWAI.GOL=GAJI.GOL;

+--------+------+------+---------+
| NAMA   | GOL  | GOL  | GAJI    |
+--------+------+------+---------+
| HENDRI | A    | A    | 1500000 |
| SENO   | B    | B    | 1250000 |
| BUDI   | D    | NULL |    NULL |
| SITI   | E    | NULL |    NULL |
+--------+------+------+---------+

mysql> SELECT * FROM PEGAWAI RIGHT JOIN GAJI
ON PEGAWAI.GOL=GAJI.GOL;



+--------+------+-----+---------+
| NAMA   | GOL  | GOL | GAJI    |
+--------+------+-----+---------+
| HENDRI | A    | A   | 1500000 |
| SENO   | B    | B   | 1250000 |
| NULL   | NULL | C   | 1000000 |
+--------+------+-----+---------+

mysql> SELECT NAMA,PEGAWAI.GOL,GAJI
FROM PEGAWAI INNER JOIN GAJI ON PEGAWAI.GOL=GAJI.GOL;

+--------+------+---------+
| NAMA   | GOL  | GAJI    |
+--------+------+---------+
| HENDRI | A    | 1500000 |
| SENO   | B    | 1250000 |
+--------+------+---------+
mysql> SELECT PEGAWAI.NAMA,PEGAWAI.GOL,GAJI.GAJI
FROM PEGAWAI LEFT JOIN GAJI ON PEGAWAI.GOL=GAJI.GOL;
+--------+------+---------+
| NAMA   | GOL  | GAJI    |
+--------+------+---------+
| HENDRI | A    | 1500000 |
| SENO   | B    | 1250000 |
| BUDI   | D    |    NULL |
| SITI   | E    |    NULL |
+--------+------+---------+
mysql> SELECT PEGAWAI.NAMA,PEGAWAI.GOL,GAJI.GAJI
FROM PEGAWAI RIGHT JOIN GAJI ON PEGAWAI.GOL=GAJI.GOL;
+--------+------+---------+
| NAMA   | GOL | GAJI    |
+--------+------+---------+
| HENDRI | A    | 1500000 |
| SENO   | B    | 1250000 |
| NULL   | NULL | 1000000 |
+--------+------+---------+
mysql>SELECT PEGAWAI.NAMA,PEGAWAI.GOL,GAJI.GAJI,
IF(PEGAWAI.GOL='A', 200000,IF(PEGAWAI.GOL="B",
150000,100000))AS BONUS
FROM PEGAWAI RIGHT JOIN GAJI ON PEGAWAI.GOL=GAJI.GOL;
+--------+------+---------+--------+
| NAMA   | GOL  | GAJI    | BONUS  |
+--------+------+---------+--------+
| HENDRI | A    | 1500000 | 200000 |
| SENO   | B    | 1250000 | 150000 |
| NULL   | NULL | 1000000 | 100000 |
+--------+------+---------+--------+
3 rows in set (0.00 sec)
mysql> SELECT PEGAWAI.NAMA,PEGAWAI.GOL,GAJI.GAJI,
IF(PEGAWAI.GOL= 'A',200000,IF(PEGAWAI.GOL="B",



150000,100000))AS BONUS
FROM PEGAWAI, GAJI WHERE PEGAWAI.GOL=GAJI.GOL;
+--------+------+---------+--------+
| NAMA   | GOL  | GAJI    | BONUS  |
+--------+------+---------+--------+
| HENDRI | A    | 1500000 | 200000 |
| SENO   | B    | 1250000 | 150000 |
+--------+------+---------+--------+
2 rows in set (0.00 sec)
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